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1. Which of the following sentences does NOT have a capitalization mistake?
A. Mr. Anwar is an English teacher at King Faisal University.
B. Mr. anwar is an English teacher at King Faisal University.
C. Mr. Anwar is an English teacher at king faisal University.
D. Mr. Anwar is an English teacher at king faisal university

2. Which is the irrelevant sentence in the following paragraph?

I go shopping with my family every Friday. We go to a mall near our house. We usually
buy meat, vegetables, juice and milk. We never buy junk food. Meat is very expensive
these days.

A. T go shopping with my family every Friday.

B. We go to a mall near our house.

C. We usually buy meat, vegetables, juice and milk.

D. Meat is very expensive these days.

3. What's the best way to combine the following two sentences?
(1) T went to Mecca by bus.
(2) My friend Ahmad went by bus, too.
A. My friend Ahmad and I went o Mecca by bus.
B. My friend Ahmad went o Mecca and I went to Mecca by bus.
C. My friend Ahmad and Tiwent to Mecca and we went by bus.
D. My friend Ahmad went to Mecca by bus and T went to Mecca by bus.

(guibid| e gl

1. Which is the best way to rewrite the following sentence?
“l can’t speak French. | can’t speak Japanese.”
A. | can’t speak French and Japanese.
B. | can’t speak French or Japanese.
C. | can’t speak French but Japanese.
D. | can’t speak French or | can’t speak Japanese.

2. What is the correct order of the following sentences?
1. First, | brush my teeth and wash my face.
2. Every day | wake up at 5:00 in the morning.
3. After that, | have a big breakfast.
4. Then | leave for work at 6:30 a.m.

odan g dlll o



A. 3,21, 4
B.2,1,3, 4
C.23 4,1
D.4,3 2,1

3. Choose the word/words that best fits/fit in the blank space:

Ahmad has a small bedroom. He a big bedroom.
A. does not have
B. don’t have
C. have not
D. does have

el el | i 1

1 - Choose the best substitute for the underlined words. If the sentence is correct, choose “Make no change.”
I'm not hungry; moreover, | cannot eat anything now.

B. as a result

Which sentence is irrelevant to the following topic sentences

Topic sentence: "It is interesting to visit foreign countries."

D. You can find ho'féls on the internet.

Which of the following sentences contains a compound subject and a compound verb?

D. Leila and her sister live and work in Dammam

Which two sentences have the same meaning
(1) You should do your best, or you will not pass the xams.

(2) You should do your best, but you will not pass the exams.
(3) You should do your best; otherwise, you will not pass the exams.

(4) You should do your best; therefore, you will not pass the exams
A. Sentences 1 and 3
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Based on Reading passage 1, The phrase ' to live up to ' means to
1_ catch something

2_ Achieve a goal

3_stay alive

4_miss something

Based on Reading passage 1, the ............... Bestow names to new born babies
1_Lakota Sioux
2_ Kung people of Namibia
3_Indian people
4_African people
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Based on Reading passage 6 , the 1960 Olympic games happened in
1_Tokyo
2_Sydney
3_ America
4 _Rome

(bl | g

based on reading passage 7, basketball is a game played by

two teams
six teams
three teams

four teams

Y il
based on reading passage 8, the word via means
get rid of

by
out

able

based on reading passage 9, the word check is said when a person

surrender
loses a game of chess
draws

wins a game of chess
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based on reading passage 10, vandalism means

saving public property
requesting property
destroying evidence

destruction of public property

based on reading passage 11, the two burglars were dressed as

police officers
guards
doctors

mailmen

based on reading passage 12, the phrase pulled overmeans

went fast
continued moving
parked on the side

still moving

based on reading passage 13, tortilla is a kind of bread that is commonly used in

mexico
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england
spain

japan
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